
&RQFXUVR�GH�$\XGDQWHV�GH�3ULPHUD�FRQ�'HGLFDFLyQ�3DUFLDO
'LFWDPHQ�GHO�-XUDGR

(Q�%XHQRV�$LUHV��D�ORV�TXLQFH�GtDV�GHO�PHV�GH�GLFLHPEUH�GHO�DxR�������VH�UH~QH�HO�MXUDGR
TXH�HQWLHQGH�HQ�HO�FRQFXUVR�SDUD�FXEULU�WUHLQWD�\�VLHWH������FDUJRV�GH�$\XGDQWHV�GH�3ULPHUD
FRQ�'HGLFDFLyQ�3DUFLDO�HQ�HO�'HSDUWDPHQWR�GH�0DWHPiWLFD�GH�OD�)DFXOWDG�GH�&LHQFLDV
([DFWDV�\�1DWXUDOHV�GH�OD�8QLYHUVLGDG�GH�%XHQRV�$LUHV��(;3(',(17(
(;���������������8%$�'0(6$�)&(1���5(62/8&,21�&'�1R����������(O�MXUDGR�HVWi
LQWHJUDGR�SRU�ODV�GRFWRUDV�,QpV�$UPHQGiUL]�\�0HUFHGHV�3pUH]�0LOOiQ�\�SRU�HO�GRFWRU�'LHJR
5LDO�

/D�QyPLQD�GH�LQVFULSWRV�VH�FRQVLJQD�D�FRQWLQXDFLyQ�

�� $&267$��/XFLOD
�� $&5,��(PLOLDQR�)UDQFLVFR
�� $*27(��1LFROiV
�� $*8,/(5$�$*8,/(5$��$OHMDQGUD�3DWULFLD
�� $/%$55$&Ë1��1DKXHO
�� $1781(6�3(5&,1&8/$��&DUORV�6DQWLDJR
�� $5&2'Ë$��0DUFRV�5DPLUR�$OIUHGR
�� $5121(��*XLGR
�� $=$��'DULR�0DUWLQ
��� %$55(72��$JXVWLQ�1LFRODV
��� %(5$6$7(*8,��0LJXHO�+HUQiQ
��� %,$1&+,��+LOGH
��� %/8)67(,1��0DUWLQ�$[HO
��� %21)$17,��0HOLQD
��� %21,&+��0DUFRV
��� %25',*21,��$OHMDQGUD�'DQLHOD
��� %862/,1,��/XFtD
��� &$f,=$5(6�62/,6��$QD�0DULHOD
��� &$3'(9,/$�+8$57(��&DPLOD
��� &(5(66$�'866(/��-XDQ�,JQDFLR
��� &+$5Ï��*LVHOD�'DQLHOD
��� &+(+(%$5��0DULDQR�$QGUHV
��� &+248(��)HGHULFR�7RPDV
��� &,)8(17(6�7255(6��&DUPHQ
��� '
$/(6,2�62872��6RItD�1HULQD
��� '$0217(��$JXVWtQ�,JQDFLR
��� '(�$025,1��/XFDV�*DEULHO
��� '(9,$��'DUtR�'DQLHO
��� '(�9,7$��0DULD�&HFLOLD
��� )$,//$&(�08//(1��1D]DUHQR
��� )(51$1'(=�9,'$/��7RPiV
��� )(55(<5$��(PDQXHO
��� )(552��0D[LPLOLDQR�*DEULHO

 



��� ),*8(52$��6HOYD�&DULQD
��� )5(<5(��6HEDVWLiQ
��� )581*,//2��0D[LPLOLDQR�2PDU
��� *,$&2%%(��0DUD�*HRUJLQD
��� *,$0%,$*,�)(55$5,��&DUOR
��� *,$11277$��(Q]R
��� *21=$/(=��1LFROiV�(]HTXLHO
��� ,*2/1,.29��1LFROiV
��� /$*25,2��$QDOtD
��� /$1&,$12��/HRQDUGR
��� /$851$*$5$<��-XDQ
��� /(*$63,��$QD�-LPHQD
��� /(5(1$��/HRSROGR
��� /,:6.,��(PLOLDQR
��� /81$��-RVp�$OHMDQGUR
��� 0$/3$57,'$�)/25(6��%U\DQ�$QWKRQ\
��� 0$57,1(=�:$*1(5��0DUFRV
��� 0(1&21,��-XDQ�0DQXHO
��� 0(1',/8&(��0DXULFLR�-DYLHU
��� 0,*8(/�=$3$7$��-DLPH
��� 0,5$1'$��$OIUHGR
��� 1$:5$7,/��$LPp
��� 1(*5(,5$��)HOLSH
��� 12&(7,��)ORUHQFLD
��� 125(6��5RFLR
��� 3$/$=21��0DQXHOD
��� 3$5$'$��'DQLHOD�/DXUD
��� 3('(56(1��*XVWDYR�6HEDVWLiQ
��� 3('5$=$��/XFtD
��� 3(55(//$��3DEOR�*DEULHO
��� 3,1��(GZLQ
��� 3,20%2��-XDQ�)UDQFLVFR
��� 32/$6(.��,YiQ
��� 32/2��7DPDUD�&DUROLQD
��� 5$))$��$QWRQHOOD�6LOYDQD
��� 5$,*252'6.<��3HGUR
��� 5$0,5(=��6DQWLDJR�$JXVWtQ
��� 5(<��,YDQ
��� 58)2/2��)UDQFR�1LFROiV
��� 58**,(5,��0DULD�/DXUD
��� 6$&�+,0(/)$5%��*DEULHO
��� 6$8&('2��0DWtDV
��� 6&277,��0HOLVD�&DUOD
��� 7(-$'$��-RVp�0DQXHO
��� 7252��-XOLiQ�+HUQiQ
��� :$,167(,1�+$,029,&+,��8OLVHV
��� :,12*5$'��-XDQ
��� =$1,129,&+��6HEDVWLDQ



��� =+$1*��)DQ
��� =8%,(7$��(]HTXLHO
��� =8&&27,��-XDQ

(Q�SULPHUD�LQVWDQFLD��HO�MXUDGR�VH�UHXQLy�SDUD�ILMDU�ORV�SXQWDMHV�Pi[LPRV�DVLJQDGRV�D�ORV
GLVWLQWRV�tWHPV�D�HYDOXDU��HVWDEOHFLHQGR�ORV�VLJXLHQWHV�YDORUHV�

Ɣ $QWHFHGHQWHV�GRFHQWHV����
Ɣ $QWHFHGHQWHV�FLHQWtILFRV����
Ɣ $QWHFHGHQWHV�GH�H[WHQVLyQ���
Ɣ $QWHFHGHQWHV�SURIHVLRQDOHV����
Ɣ 3UXHED�GH�RSRVLFLyQ����
Ɣ &DOLILFDFLRQHV��WtWXORV��HVWXGLRV�\�RWURV�DQWHFHGHQWHV����

'DGR�HO�Q~PHUR�GH�SRVWXODQWHV��VH�HVWDEOHFLy�TXH�OD�SUXHED�GH�RSRVLFLyQ�VH�OOHYDVH�D�FDER
GH�PDQHUD�HVFULWD��/D�PLVPD�FRQVLVWLy�HQ�OD�UHVROXFLyQ�GH�XQ�HMHUFLFLR�SURSXHVWR�SRU�HO
SRVWXODQWH��H[SXHVWR�FRPR�VL�IXHUD�SDUWH�GH�XQD�FODVH�SUiFWLFD�GH�OD�PDWHULD
FRUUHVSRQGLHQWH��VREUH�XQR�GH�ORV�VLJXLHQWHV�WHPDV�

Ɣ 7HRUHPD�GHO�3XQWR�)LMR���1LYHO�GH�$QiOLVLV�$YDQ]DGR�&iOFXOR�$YDQ]DGR�&iOFXOR
1XPpULFR�

Ɣ 7UDQVIRUPDFLRQHV�2UWRJRQDOHV���1LYHO�GH�ÈOJHEUD�/LQHDO�ÈOJHEUD�/LQHDO
&RPSXWDFLRQDO�0DWHPiWLFD����)��

6H�VROLFLWy�OD�MXVWLILFDFLyQ�GH�OD�HOHFFLyQ�GHO�HMHUFLFLR��DVt�WDPELpQ�FRPR�OD�GHVFULSFLyQ�GH�ORV
FRQRFLPLHQWRV�SUHYLRV�TXH�VH�VXSRQHQ�\D�DGTXLULGRV�SRU�ORV�HVWXGLDQWHV��FRQ�HO�ILQ�GH
FRQWH[WXDOL]DU�OD�HOHFFLyQ�

/D�GRFXPHQWDFLyQ�IXH�UHPLWLGD�HOHFWUyQLFDPHQWH�SRU�ORV�SRVWXODQWHV�HQWUH�ORV�GtDV����GH
RFWXEUH�\���GH�QRYLHPEUH�GH������

/RV�PLHPEURV�GHO�MXUDGR�SURFHGLHURQ�D�FRQVLGHUDU�H[KDXVWLYDPHQWH�ORV�DQWHFHGHQWHV�\�OD
SUXHED�GH�RSRVLFLyQ�GH�ORV�FDQGLGDWRV�VHJ~Q�HO�UHJODPHQWR�GH�FRQFXUVRV�GH�GRFHQWHV
DX[LOLDUHV�YLJHQWH��6H�GHMD�FRQVWDQFLD�TXH�HQ�OD�HYDOXDFLyQ�GH�WRGRV�ORV�DQWHFHGHQWHV�VH
WXYLHURQ�HQ�FXHQWD�ODV�UHFRPHQGDFLRQHV�DO�MXUDGR�GHWDOODGDV�HQ�HO�DQH[R�GH�OD�5HVROXFLyQ
5(6&'����������(�8%$�'&7�)&(1�

$O�HYDOXDU�ORV DQWHFHGHQWHV�GRFHQWHV��HO�MXUDGR�WXYR HQ�FXHQWD�WRGRV�ORV�HOHPHQWRV
VHxDODGRV�HQ�HO�UHJODPHQWR�GH�FRQFXUVRV�SDUD�GRFHQWHV�DX[LOLDUHV�YLJHQWH��LQFOX\HQGR�OD
MHUDUTXtD�GH�ORV�GLVWLQWRV�FDUJRV�GHVHPSHxDGRV�KDVWD�OD�IHFKD�SRU�ORV�FRQFXUVDQWHV��ODV
LQVWLWXFLRQHV�HQ�ODV�TXH�IXHURQ�OOHYDGRV�D�FDER��\�HO�ODSVR�HQ�FDGD�FDUJR�

(Q�FXDQWR�D�ORV DQWHFHGHQWHV�FLHQWtILFRV��VH�FRQVLGHUDURQ ODV�SXEOLFDFLRQHV�GH�ORV
FRQFXUVDQWHV��ODV�FRPXQLFDFLRQHV�HQ�FRQJUHVRV�\�VHPLQDULRV��OD�IRUPDFLyQ�GH�UHFXUVRV
KXPDQRV��\�ORV�FXUVRV�UHDOL]DGRV�IXHUD�GH�OD�FDUUHUD�GHO�GRFWRUDGR�TXH�VH�FRQVLGHUDURQ
IRUPDWLYRV�SDUD�VX�FDSDFLWDFLyQ�FLHQWtILFD��6H�WXYLHURQ�HQ�FXHQWD�WDPELpQ�ODV�HVWDGtDV�GH
LQYHVWLJDFLyQ�HQ�HO�H[WHULRU�



(Q�ORV DQWHFHGHQWHV�GH�H[WHQVLyQ VH�FRQVLGHUDURQ�OD�SDUWLFLSDFLyQ�HQ�GLVWLQWDV�DFWLYLGDGHV
GH�GLYXOJDFLyQ�FLHQWtILFD�\�ORV�FDUJRV�GHVHPSHxDGRV�SDUD�HO�GHVDUUROOR�GH�WDUHDV�GH
GLYXOJDFLyQ��7DPELpQ�VH�WXYLHURQ�HQ�FXHQWD�ODV�DFWLYLGDGHV�GH�DUWLFXODFLyQ�FRQ�RWURV�iPELWRV
HGXFDWLYRV�

(Q�ORV DQWHFHGHQWHV�SURIHVLRQDOHV VH�FRQVLGHUDURQ GLVWLQWDV�DFWLYLGDGHV�IXHUD�GHO�iPELWR
DFDGpPLFR�UHODFLRQDGDV�FRQ�OD�PDWHPiWLFD�UHDOL]DGDV��QR�FDWDORJDEOHV�FRPR�DQWHFHGHQWHV
FLHQWtILFRV��GH�H[WHQVLyQ�R�GH�GRFHQFLD�XQLYHUVLWDULD�

(Q�ODV FDOLILFDFLRQHV��WtWXORV��HVWXGLRV�\�RWURV�DQWHFHGHQWHV� VH�WXYLHURQ�HQ�FXHQWD�ORV
WtWXORV�GH�JUDGR�\�SRVJUDGR�REWHQLGRV��HO�DYDQFH�HQ�OD�FDUUHUD�GHO�GRFWRUDGR��DVt�FRPR�ORV
SUHPLRV�REWHQLGRV��$VLPLVPR��VH�FRQVLGHUDURQ�ODV�EHFDV�GH�GLYHUVRV�RUJDQLVPRV
�&21,&(7��8%$��HWF���\�ODV�DFWLYLGDGHV�GH�JHVWLyQ�XQLYHUVLWDULD�UHDOL]DGDV�SRU�ORV
SRVWXODQWHV�

$O�PRPHQWR�GH�HYDOXDU�OD SUXHED�GH�RSRVLFLyQ��VH�WXYR HQ�FXHQWD�OD�HOHFFLyQ�GHO�HMHUFLFLR
\�GH�OD�HVWUDWHJLD�GH�UHVROXFLyQ��OD�PRWLYDFLyQ��\�OD�FODULGDG�\�FRUUHFFLyQ�GHO�GHVDUUROOR��6H
YDORUy�HO�FXPSOLPLHQWR�GH�ODV�FRQVLJQDV�GDGDV�\�VH�SHQDOL]DURQ�ORV�HUURUHV�HQ�ORV
HQXQFLDGRV�\�HQ�OD�UHVROXFLyQ��6H�HYDOXy�OD�MXVWLILFDFLyQ�GH�OD�HOHFFLyQ�\�OD�GHVFULSFLyQ�GH�OD
YLQFXODFLyQ�GHO�HMHUFLFLR�FRQ�ORV�FRQWHQLGRV�GH�OD�DVLJQDWXUD�

3RU�QR�KDEHUVH�SUHVHQWDGR�D�OD�SUXHED�GH�RSRVLFLyQ�VH�H[FOX\H�GHO�RUGHQ�GH�PpULWRV�D�ORV
SRVWXODQWHV��$&5,��(PLOLDQR�)UDQFLVFR��$*8,/(5$�$*8,/(5$��$OHMDQGUD�3DWULFLD��$=$�
'DULR�0DUWLQ��%/8)67(,1��0DUWLQ�$[HO��%21)$17,��0HOLQD��%25',*21,��$OHMDQGUD
'DQLHOD��&$3'(9,/$�+8$57(��&DPLOD��&+$5Ï��*LVHOD�'DQLHOD��&+(+(%$5��0DULDQR
$QGUHV��&,)8(17(6�7255(6��&DUPHQ��)$,//$&(�08//(1��1D]DUHQR��)(51$1'(=
9,'$/��7RPiV��)(552��0D[LPLOLDQR�*DEULHO��),*8(52$��6HOYD�&DULQD��)581*,//2�
0D[LPLOLDQR�2PDU��*,$0%,$*,�)(55$5,��&DUOR��/$851$*$5$<��-XDQ��/(*$63,��$QD
-LPHQD��/81$��-RVp�$OHMDQGUR��0(1&21,��-XDQ�0DQXHO��0,*8(/�=$3$7$��-DLPH�
0,5$1'$��$OIUHGR��1(*5(,5$��)HOLSH��3('(56(1��*XVWDYR�6HEDVWLiQ��3('5$=$��/XFtD�
3(55(//$��3DEOR�*DEULHO��32/$6(.��,YiQ��6$8&('2��0DWtDV��=8&&27,��-XDQ�

6H�GHMD�FRQVWDQFLD�TXH�OD�'UD��,QpV�$UPHQGiUL]�VH�DEVWXYR�GH�RSLQDU�VREUH�HO�SRVWXODQWH
$/%$55$&,1��1DKXHO��OD�'UD��0HUFHGHV�3pUH]�0LOOiQ�KL]R�OR�SURSLR�FRQ�HO�SRVWXODQWH
5$,*252'6.<��3HGUR��\�HO�'U��'LHJR�5LDO�QR�RSLQy�VREUH�'(9,$��'DUtR�'DQLHO�
(O�SXQWDMH�FRUUHVSRQGLHQWH�D�FDGD�FDQGLGDWR�HQ�FDGD�UXEUR�TXHGD�GHWDOODGR�HQ�OD�JULOOD�TXH
VH�DQH[D��&RPR�UHVXOWDGR��SRU�GHFLVLyQ�XQiQLPH�GH�HVWH�MXUDGR��VH�SURSRQH�HO�VLJXLHQWH
RUGHQ�GH�PpULWRV�

� 6&277,��0HOLVD�&DUOD

� )5(<5(��6HEDVWLiQ

� '
$/(6,2�62872��6RItD�1HULQD

� %(5$6$7(*8,��0LJXHO�+HUQiQ

� )(55(<5$��(PDQXHO

� '(�$025,1��/XFDV�*DEULHO



� 5(<��,YDQ

� *21=$/(=��1LFROiV�(]HTXLHO

� $5121(��*XLGR

�� '$0217(��$JXVWtQ�,JQDFLR

�� $&267$��/XFLOD

�� $5&2'Ë$��0DUFRV�5DPLUR�$OIUHGR

�� '(9,$��'DUtR�'DQLHO

�� *,$&2%%(��0DUD�*HRUJLQD

�� %862/,1,��/XFtD

�� 125(6��5RFLR

�� '(�9,7$��0DULD�&HFLOLD

�� 3$/$=21��0DQXHOD

�� 0(1',/8&(��0DXULFLR�-DYLHU

�� 3,20%2��-XDQ�)UDQFLVFR

�� 5$))$��$QWRQHOOD�6LOYDQD

�� 3$5$'$��'DQLHOD�/DXUD

�� 5$,*252'6.<��3HGUR

�� 5$0,5(=��6DQWLDJR�$JXVWtQ

�� 3,1��(GZLQ

�� 6$&�+,0(/)$5%��*DEULHO

�� 0$/3$57,'$�)/25(6��%U\DQ�$QWKRQ\

�� 32/2��7DPDUD�&DUROLQD

�� &+248(��)HGHULFR�7RPDV

�� /$1&,$12��/HRQDUGR

�� :,12*5$'��-XDQ

�� $*27(��1LFROiV

�� 7252��-XOLiQ�+HUQiQ

�� 0$57,1(=�:$*1(5��0DUFRV

�� 12&(7,��)ORUHQFLD

�� $/%$55$&,1��1DKXHO

�� /$*25,2��$QDOtD

�� 58**,(5,��0DULD�/DXUD

�� %$55(72��$JXVWLQ�1LFRODV

�� =$1,129,&+��6HEDVWLDQ

�� =+$1*��)DQ



�� &(5(66$�'866(/��-XDQ�,JQDFLR

�� 7(-$'$��-RVp�0DQXHO

�� 58)2/2��)UDQFR�1LFROiV

�� /(5(1$��/HRSROGR

�� :$,167(,1�+$,029,&+,��8OLVHV

�� &$f,=$5(6�62/,6��$QD�0DULHOD

�� /,:6.,��(PLOLDQR

�� %,$1&+,��+LOGH

�� =8%,(7$��(]HTXLHO

�� 1$:5$7,/��$LPp

�� $1781(6�3(5&,1&8/$��&DUORV�6DQWLDJR

�� ,*2/1,.29��1LFROiV

�� %21,&+��0DUFRV

�� *,$11277$��(Q]R

(O�MXUDGR�GHMD�FRQVWDQFLD�TXH�WRGRV�ORV�FDQGLGDWRV�TXH�ILJXUDQ�HQ�HO�RUGHQ�GH�PpULWRV�HVWiQ
HQ�FRQGLFLRQHV�GH�GHVHPSHxDUVH�FRPR�$\XGDQWHV�GH�3ULPHUD�FRQ�'HGLFDFLyQ�3DUFLDO��6LQ
HPEDUJR��ORV�SRVWXODQWHV�$*27(��1LFROiV��&$f,=$5(6�62/,6��$QD�0DULHOD��&+248(�
)HGHULFR�7RPDV��*,$11277$��(Q]R��/$1&,$12��/HRQDUGR��/(5(1$��/HRSROGR��/,:6.,�
(PLOLDQR��0$57,1(=�:$*1(5��0DUFRV��32/2��7DPDUD�&DUROLQD��5$,*252'6.<��3HGUR�
58)2/2��)UDQFR�1LFROiV��6$&�+,0(/)$5%��*DEULHO��7(-$'$��-RVp�0DQXHO�
=$1,129,&+��6HEDVWLDQ��GHEHUiQ�REWHQHU�VX�WtWXOR�GH�JUDGR�SDUD�SRGHU�VHU�GDGRV�GH�DOWD
HQ�HO�FDUJR�

'UD��,QpV�$UPHQGiUL]�������������������'UD��0HUFHGHV�3pUH]�0LOOiQ��������������������'U��'LHJR�5LDO


